= AH
N = 0 &8 AH Y H N AN

2022EE =H 2 5 UL H HAH

2N HEH

MM =0 OHE MHA MB(HEEH)

Cel: 82X HIEH 29 (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
HAEH 2,812,283 2,775,429 36,854
0l OtE MH A MB(HEAY) 630,030 604,376 25,654

SEF0 HMH 29 630,030 604,376 25,654
2 U H2(HAEH) 148,638 143,638 5,000
206 X 24l 21,500 16,500 5,000

01 MZHl 21,500 16,500 5,000
oY g K2 23 13,000,000 13,000 8,000 5,000
SIAL L FHH ST (FAH) 220,292 199,638 20,654
201 LEt2 A H| 105,123 102,069 3,054
01 A2 22|l 7,553 6,499 1,054
OFEANZE BEs&a 22 3,054 2,000 1,054
-MyoEE 263,500 * 43| 1,054 0 1,054
02 B229H| 97,570 95,570 2,000
OAE KX HI ZA 5,000,000 5,000 3,000 2,000
405 KH&HE S| 62,600 45,000 17,600
01 IHAtY 2 E F SH 62,600 45,000 17,600
OFAXZY AqE8tA 17,600 0 17,600
-ExGE 8,800,000 * 2CH 17,600 0 17,600
FOIHOZA XSFHL(HAH) 1,650,000 1,650,000 0
ZEUS NG (HIEH) 1,650,000 1,650,000 0
ARD FO=AAY(HAH) 1,450,000 1,450,000 0
401 AlEHIZ 20 1,450,000 1,450,000 0
01 Al&H| 1,450,000 1,450,000 0
25 0FSDI8AI & HHI 2 AH(L=60m)
AE 17,815,000 17,815 30,000 A12,185
O=28 =2 I A ZAHL=100m) 19,577 0 19,577
OAIE 02 DI8HAI A FH| 2 AF(L=30m)
22X 24,550,000 24,550 20,000 4,550
OAIZE Or2 et FH| 2 AH(L=50m) 19,314 0 19,314
O=2fel 02 218HAIE & HI 2 AH(L=200m)
3 0% 0 30,000 230,000
ONT 02 2IEHAIE EHI 2 AHL=100m)
23 8,000,000 8,000 30,000 A 22,000
O/ ST 0SI|BHAI& & H 2 AHL=100m)
3F o’ 0 30,000 230,000
O/SE Hi4=ZFH|IZ AHL=200m)
23 38,057,000 38,057 30,000 8,057
O2E 02 JIEHAIE ®HI 2 AH(L=150m)
23X 24,175,000 24,175 36,000 A11,825
O e 021 EHAI & EHI 2 AH(L=200m)
Z3 8,000,000 8,000 36,000 A 28,000




2N
X ZH -
L= B

el

HH -G () - HEMY - BdS Off &t 24 INEH Husz
O"Et D2 J18HAIZ FHI 2 AH(L=180m)
3 & 32,919,000& 32,919 36,000 A 3,081
Odlg DH2218HAIE EHI 2 AH(L=200m)
33 16,875,000& 16,875 30,000 A13,125
O&dl == Lbi+==2FHl 2 AH(L=100m)
2 & 21,023,000 21,023 38,000 A16,977
OME =2 LEi+=2FHI 2 AH(L=100m)
3 & 29,509,000& 29,509 30,000 Vagiiel|
OAME N &3tatEHIS AF(L=100m) 16,639 0 16,639
DE s L= ZHl S AHL=200m)
Z & 38,157,000& 38,157 36,000 2,157
OL4 Orsote & 43 Ar(L=50m) 23,084 0 23,084
OLH =222 223 AH(L=50m) 10,147 0 10, 147
O E ¥ DFSII8tAIE & HI S AHL=200m)
Z & 50,330,000 50,330 30,000 20,330
O @ 0tsetd 23 AH(L=50m) 10,900 0 10,900
OdS1 Ot St =2 F I 3 AH(L=200m)
d& 22,710,000& 22,710 30,000 AT7,290
OAlE2 0FSIIBHAIE E HI 2 AH(L=200m)
33 28,746,000 28,746 30,000 N1,254
O3%1 0tSII8FAIE H HI 2 AH(L=350m)
33 28,759,000& 28,759 30,000 A1,241
O3E2 0tSII8FAIE ZHIZ AH(L=100m)
3 & 28,923,000 28,923 30,000 A1,077
O22 0t2d Y2 HHISAHL=100m)
3 & 24,627,000 24,627 36,000 A11,373
Oz IISTLZIHIZ2AM HIISHa L (14
) 6,210 0 6,210
O22 022t 843 Ar(L=50m) 10,230 0 10,230
O&et gtis==2F 8512 AH(L=100m) 7,180 0 7,180
O&r2t 0r2218HAIZ I 3 AH(L=100m)
43 30,561,000& 30,561 36,000 A5,439
Of41 s22 =2 F HI 2 AH(L=150m)
38 0¥ 0 30,000 A30,000
O 242 IISUHHASZHHISAH(1A) 2,950 0 2,950
OS&2 DtSJI8tAI - ZHI S AHL=100)
38 02 0 30,000 A 30,000
OXl& 0t2218HAI & EHI 2 AH(L=200m)
3 & 33,778,000& 33,778 35,000 N1,222
ORE Ot22I18HAIZ FHI 2 AH(L=100m)
38 0¥ 0 25,000 A 25,000
OMEl Bt2218HAIE EHIZ AH(L=100m)
3 & 17,166,000& 17,166 36,000 A 18,834
O L1 0tSJ18tAI & ZHl S AH(L=80m)
Z & 11,400,000& 11,400 25,000 A 13,600
O Y2 DS J18tAI 4 E HI 3 AH(L=230m)
d & 15,425,000& 15,425 36,000 A 20,575




SN HaEo
o FOIBOSN KWL (HHDH)
Sl REUS NAHL(FHE) (29l & 2)
SN EH - (EH) - HRAY - BES 0] &b 2 p/E-T Hl D2
O%r22 0rs or 2 3 bl = AH(L=200m)
23 12,816,002 12,816 30,000 A17, 184
O3H22 0H2 T & 2 & HI 2 AH(L=20m) 3,220 0 3,220
O3H22 HPUHHY 2 24T AHL=30m) 5,300 0 5,300
O 322 0hS LT B AH(A=20T) 8.179 0 8,179
OAPIISH OS2 HHIZ AH(L=250n) 2 F 0 0 30,000 30,000
OBl 0HS0H2 1| B AH(L=80n)
I 31,172,008 31,172 30,000 1,172
OBl DH20H2 2 4 3 AH(L=30) 7.600 0 7.600
OO0 D21 8HAl & B HI B AH(L=200m)
23 23,626,002 23,626 36,000 A12,374
OO0 DH2JIBHAI & & 42 At(L=20m) 51,583 0 51,583
F25 1 DFSOIEHAIE B HI B AH(L=100m)
23 o= 0 30,000 30,000
O&'%2 01271 BHAI & F HI S A (L=100m)
23 9,570,0008 9,570 30,000 20,430
ONE3 STXNTYZHHIZAH(14])
23 20,050,002 20,050 36,000 15,950
O&'&3 01271 BHAI & F HI 2 A (L=100m) 34,127 0 34,127
OB DH2 I BHAl & B HI B AH(L=200m)
AT 16,025,002 6,025 36,000 £19,975
OOIAFZ DFSIIEHAI4 S H| B AH(L=200m)
A 49,812,002 49,812 30,000 19,812
OOIAFZ DFSIIEHAI & 2 4 B AF(L=200m) 29,870 0 29,870
OOGIAIZ &2 2 4B AH(L=50m) 14,200 0 14,200
OUNE =224 2F 8B AHL=100m)
33 23,577,002 23,577 30,000 £6,423
O 1 0H2JI BHAI & J HI 3 A (L=200m)
3 24,922,002 24,922 30,000 ~5,078
OB =2 I HI 2 AH(L=60n) 9,600 0 9,600
O B2 5242 F Hl 2 A (L=200n)
AT 20,872,002 20,872 30,000 £9.128
OSEW2 MUl 2HFELTA(14]) 14,000 0 14,000
ONHE S22 +2FHIBAHL=100m)
3 26,624,002 26,624 30,000 £3,376
OXHE DH22H2 2 4 B AH(L=30n) 4,950 0 4,950
OXI&1 52 %42 3 Hl 2 A (L-200n)
2T 34,364,000 34,364 30,000 4,364
OXI&2 52 %42 3 Hl 2 A (L=200n)
23 28,979,002 28,979 30,000 A1,021
OXI&2 0HS 22 1l B AH(L=200m) 9,364 0 9,364
O2D 012521 B AH(L=60n) 8,950 0 8,950
OS2 DH2JI8HAl& B HI B AH(L=400m)
33 50,321,002 50,321 31,000 19,321
OB D12 JIBHAI & 2 4 2 A (L=150m)
2T 15,816,002 5,816 40,000 A 24,184
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